
File:  Formulas.doc 
Date:  2002-09-10 

1 

FEMIX  4.0 

FORMULAS 

Note: a vector is stored in a column matrix 

Example: ( ) [ ]Txxx
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Strain operator 
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Stress strain relation (isotropic materials) 
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Coordinate transformation 
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Jacobian matrix ( )mm ×  
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Determinant of the Jacobian matrix 

JJ =  
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Interpolation of the thickness of a laminate element 

Note: ih  is the thickness of the element in node i 
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Interpolation of the cartesian coordinates of the element nodes 
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Interpolation of the displacements of the element nodes 
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